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�� ����ABCD ������AB = BL = DN = a, BC =

AK = CM = b (a < b)��� K, L, N, M �������
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1 + 3 + 5 + · · · + 999

1001 + 1003 + 1005 + · · · + 1999
=?

�
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�� ���������� EFGH ��� + �� IFJH ���

= �� ABCD ����
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�20 ��

�� 	�� a1, a2, b1, b2 �� a1 ≥ b1 ≥ b2 ≥ a2 > 0� a1a2 ≥ b1b2�

�������

a1 + a2 ≥ b1 + b2
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�� 5329 = 732�

�� 1610 ��

�� BEDCA�

�� 3+
√
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�� �� a, b, x, y, z �������������

HF 2 = (a2 + x2) +
(
(y + z)2 + b2

)
=

(
a2 + (x + y)2

)
+ (z2 + b2) ⇒ x = z.

��

��� ABCD ��� − ��� HEFJ ���

=
ax + b(y + x) + a(x + y) + bx

2

=
(a + b)(2x + y)

2
=��� ABCD ������
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�� EFGH ��� + �� IFJH ��� = �� ABCD ����
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�� ������������ a1 ≥ b1 ≥ b2 ≥ a2 ��

(a1 − a2)
2 ≥ (b1 − b2)

2 ⇒ a2
1 − 2a1a2 + a2

2 ≥ b2
1 − 2b1b2 + b2

2.

����� 4a1a2 ≥ 4b1b2 �Ǳ���

a2
1 + 2a1a2 + a2

2 ≥ b2
1 + 2b1b2 + b2

2 ⇒ (a1 + a2)
2 ≥ (b1 + b2)

2.
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�� a1 + a2 > 0, b1 + b2 > 0��� a1 + a2 ≥ b1 + b2�

������������ a1 ≥ b1 ≥ b2 ≥ a2 > 0 ��

√
a1 ≥

√
b1 ≥

√
b2 ≥ √

a2 > 0 ⇒ (
√

a1 −√
a2)

2 ≥ (
√

b1 −
√

b2)
2

�� a1a2 ≥ b1b2 > 0

⇒ (a1 + a2) − (b1 + b2) ≥ 2(
√

a1a2 −
√

b1b2) ≥ 0

⇒ a1 + a2 ≥ b1 + b2.

���	��
����� a1a2 ≥ b1b2 > 0 ��

a1

b1

≥ b2

a2

⇒ a1

b1

− 1 ≥ b2

a2

− 1

⇒ a1 − b1

b1

≥ b2 − a2

a2

�� b1 ≥ a2 > 0

⇒ a1 − b1

b2 − a2
≥ b1

a2
≥ 1

�� a1 − b1 ≥ 0, b2 − a2 ≥ 0

⇒ a1 − b1 ≥ b2 − a2

⇒ a1 + a2 ≥ b1 + b2.

���
��������{
x = a1 − b1 ≥ 0,

y = b2 − a2 ≥ 0.

� a1a2 ≥ b1b2 ��

(b1 + x)(b2 − y) ≥ b1b2 ⇒ xb2 − yb1 ≥ xy ≥ 0

⇒ xb2 ≥ yb1

�� b1 ≥ b2 > 0

⇒ x ≥ y

⇒ a1 − b1 ≥ b2 − a2

⇒ a1 + a2 ≥ b1 + b2.
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b1
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b1(b2 − a2)

(a1 − b1)a2

������ a1a2 ≥ b1b2 ���������

(a1 − b1)a2 ≥ b1(b2 − a2) ⇒ a1 − b1

b2 − a2

≥ b1

a2

≥ 1

⇒ a1 − b1 ≥ b2 − a2

⇒ a1 + a2 ≥ b1 + b2.
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